Question Paper Title : TI_36

Date of Exam : 26-07-2019 02:30 PM

Reference 1D:(18218) Choose the appropriate prepositions for the given sentence:

Success life depends good health.

A.in, on
B.for, on
C.by, in

D.of, for

Answer: A.in, on
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Reference 1D:(18210) Choose the option with the appropriate suffix to complete the given
sentence:

His acting career sank to medio very soon.

A.-crity
B.-crous
C.-cration

D.-cre

Answer: A.-crity

Reference ID:(18229)  faaiedr Wegirerq favgrd 2rsg i,
ICEICE t1]y | Q—
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Answer: A.Qléil

Reference ID:(18466) 1983 A YoRIAd &4 fSidal dagl YR fohare Tumal WM 107 glar?
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D. Y !



Answer:

Reference ID:(18473)

Answer:

Reference 1D:(18243)

Answer:

Reference 1D:(18474)

Answer:

Reference 1D:(18480)

C.oud g

A5l iGUH FHGR HRCTT WAL WbR e e
A.26 SHaRT 1950
B.26 AlgsR 1949
C.26 SHaRT 1949

D.15 3RS 1947

B.26 Al eR 1949

JeId AT SRy faRsuTmen vt fAaer.

AHigH

B.gax
C.PHIeA

D.4¢Rc

D.4¢Rc
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A %@%#

B.$%=#

C.5@=#$

D.$@%#

Answer: B.$%=#

Reference ID:(18459)  HasHYT WIATAUD! HIUTAT gidh! HITTHENT Aol Seara-1d HHARRINTO!
2018 TN FUMAR RIEBR (SHaTIRd) STTTd STl

AdRS g1
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D.fawr g

Answer: C. =g Aldl

Reference 1D:(18209) Choose the appropriate collective noun to complete the sentence:

A of worshippers assemble inside the mosque every Friday.

A.congregation
B.twin
C.team

D.choir

Answer: A.congregation

Reference ID:(18239)  fadiedl UTqd ‘Faa (AIFAA) & 3fiesl.
EC| 1V}

ATl
B.@Td

c.did



D.&d

Answer: c.did

Reference ID:(18485)  Raran oIt v W Fag @ quf &
28,32, 23, 39, 14, 50, .

A1
B.5
C.14

D.24

Answer: A1

Reference ID:(18240) U1 yafarit fAgs &,

Answer: =RIIG

Reference ID:(18483) 8 Thg, 2005 IIuil HTdR Bldl. 8 Uy, 2004 RVSil TSI DIV Gy

gIar?

AXfaarR
B.IHAR
C.HdR

D.gYaR

Answer: AfdaR

Reference ID:(18484)  WTdit f[adied Y@ciAe 3iehial U fafR1y ovH fadid 318, AR Iebial hH

50, 51,47, 56, 42, 65, 29



A.51
B.47
C.56

D.42

Answer: D.42

Reference ID:(18250)  JaId ATuRIRI<AT A SfTdT Ui e,
3fheidl hicT Ul-
ATEE ST 30
B.gUR Jsidl 301
C.3{dhd gRIRIA ol
D. 3{cIIgTUN 0!

Answer: B.gHR Q@?ﬂ 30y

Reference ID:(18246)  Jeld daddid 3oy il
T TG STuaTUe ferte s Siol &R uSd.

AT
B.foM
C.fawe
D.0&T

Answer: D .ﬁ&ﬂ

Reference 1D:(18234) ';16“|c1 Tl UhR 3Nl
3R fpdl § HoUT T2
A faemeff
B.Jarrff
C ThRIf

D. 3R

Answer: B.Bil?l?ﬁ



Reference 1D:(18224)

Answer:

Reference 1D:(18498)

Answer:

Reference 1D:(18236)

Answer:

Reference 1D:(18217)

Out of the following options, identify a simple sentence.

A.l was on cloud nine after my recent results.
B.l had topped the exam.
C.My tenth board exam result had come recently and everyone was happy.

D.Some of my friends were not happy with their results.

B.l had topped the exam.

2 Yed THUBIURA 200 fhtt gR 2 ™MSGTURA UhM 93! Yd Y= HRdd
30T UhT RIHBTAREA 110 fhHt SfdRTaR THHS T IR HRUGHTS! faveg

faRme S1d 1R d. A<l ol Ui B 3Mg?

A11:9

B.13:9

CA7:9

D.21:9

A.11:9

Jeld drerdie fadafaar s,
YRR UG dTorHeTard Hiey sifiidd e faurd.

A YRR G1a9Td
B.dSTHGTAT

C.g
D.few.

A RYRAT ITadTd

Choose the correct form of modal auxiliary verb for the given sentence:

If | succeed in securing admission in the National Law School, |
make a good law student.

A.will
B.can

C.would



D.might

Answer: A.will

Reference ID:(18232)  Udld sard fofil sfies.
GBI

Answer: CHWT

Reference 1D:(18207) Choose the correct form of adjective for the given sentence:

Karishma puts her heart and soul into anything she undertakes to do. She is

A.loyal
B.dedicated
C.grateful

D.enthusiastic

Answer: B.dedicated

Reference ID:(18451)  Jaid aiddTd GARATId 3 dTeRER Hagl.
GAfALAMHTR ST g:a SISl Re il 3] ADhRI1] dhar Hal,

A TTRTSS B0l
B.gxit arardt refol

C.SUsiifdesT HI0)

D.d9R glut

Answer: D.ddlR B-T@f

Reference ID:(18245)  Udhdad-Td 3{Hdbda- .
TS JHddd § oy e |




A TSI gEaerc g1 Yav=it e !
B.XISIH dqdcidll & YR TR !
C N qqdad ol Yo=i ey !
D TSI a¥acid § Yozl 2R !

Answer: A TS aaaial g1 Yaveh ey !

Reference ID:(18464)  Ufcithel 8T T Wieiiaide! HIurdl fég Sarem Jafdd sgd?

Afawg

B.§&N
C.IT0IRT
D.RR@

Answer: Dﬁﬁ[

Reference ID:(18228)  faoiedr Wsgirerq favgrd 2rsq i,
ERIERIrS: ' G—

AFI
B.IIS

c.ys
D.®RI

Answer: c.u4s

Reference ID:(18482) U SUaIel auiHeY T 99 IRTUAY faaRd Ta. @M IR fead 1, <
qui-iaRd AT 99 &, ATeT 3 = TOM S1f0r 79 i auiga drean aare faug
oI BT AT JIETAT TS 99 Hodal”. HAdkid 9 I g ?

A.16 9%
B.17 9%
c.18 a%

D.19 9%



Answer: C.18 aﬁf

Reference 1D:(18213) Choose the appropriate articles to complete the given sentence:

Danube still forms crucial part of nation’s trade and commerce.

A.No article required ... the ... a
B.The ... the ... the
C.The ... a ... No article required

D.The ... a... the

Answer: D.The ... a... the

Reference ID:(25007) SR 3fifacd 20 foHl/amm=ar dH U1ad 3¥d, R 400 HieR 3R SRS
ara foa fifAe arTdia?

Answer: 1

Reference 1D:(18220) Choose the most suitable conjunction for the given sentence:
The weather was fine we decided to go out for a long walk.

A.but
B.and

C.because

D.as



Answer: B.and

Reference ID:(18469) "SR S & ¢TIy o 2f® Srciedl JXIdTd G DI ed?

A HHA Ucd

B.TH. d%haT g
C. 31301 Siedl

D.7Y-1dRT de'd

Answer: A.HHAY ged

Reference ID:(18461)  “G THIRR 31 3iId Aol IoT: HHRNTARIA U Sigaier g gideR faoid g&i®

T ferfed gia:

A faspH 43

B. U1 dfe
C.fde fogrt ora

D. Ryl gt

Answer: D fygrd W

Reference ID:(18457)  TIfcraieal HHMNIA] RISl (hUl-s1SMEh) T AR HRUMN HRAHNT dfgd I
WU BT 3MMR?

ABIS

B.ToRTd
C.HE Ux
D.fagrR

Answer: A.DPID



Reference 1D:(18206) Choose the correct form of adjective for the given sentence:

He died a death.

A.great
B.magnificent
C.glorious

D.superficial

Answer: C.glorious

Reference ID:(18214) Choose the correct form of verb for the given sentence:

I the answer, and apparently, neither Sushma.

A.know ... do
B.don’t know ... does
C.am knowing ... is

D.knows not ... does

Answer: B.don’t know ... does

Reference ID:(18244)  Ueld URRIT Ysgidl STl 3Mcswl.
fad} e urearT &g avi Aufife o,

A forarfaxiyor
B.ITHTIAH
ACEL LY

D.HIgdHddh H1H

Answer: c.fagyor

Reference ID:(18463) 1873 T, WIfddl Bal It Sl G0IA%EE <T@l GUITHTAT
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Answer:

Reference 1D:(18208)

Answer:

Reference 1D:(18211)

Answer:

Reference 1D:(18468)

Answer:

Reference 1D:(18204)

D i A
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Which of the following is NOT a Collective Noun?

A.Army
B.Cattle
C.Person

D.Public

C.Person

Choose the option with the appropriate suffix to complete the given
sentence:

The scene of crime was loath to look at.

A.-full
B.-some
C.-ly

D.-ness

B.-some

HRATHE HdaM HROI 310 HAGR AT HIT SUAMIS! T 99 § 318

A7
B.18
C.19

D.20

B.18

Choose the appropriate option with the correct punctuation marks for the
given sentence:
if it rains he said we will stay indoors



Answer:

Reference 1D:(18472)

Answer:

Reference 1D:(18238)

Answer:

Reference 1D:(18223)

Answer:

A.If it rains he said we will stay indoors.
B.“If it rains,” he said, “we will stay indoors.”
C.“If it rains!” he said, ‘we will stay indoors.

D.If it rains, he said. we will stay indoors,

B.“If it rains,” he said, “we will stay indoors.”

2019 T MISUHI=AT AT CHATIS! SToltHYd HeRIFTAT Hds! adi
TAGR G Fagud dedun=il SUGAR ATd ?

ABUT ARYR UIcid
B.7IUTe RIgt
C.HA ®lcd

D. G| HgTeH

AHUT ARYR TIeid

fdear 4T 9 &4 fAaer.
T gd¥ (ITTa0N). (AT THDTS)

A3TTad 39
B.37ddT gidl

C.37Tadr

D.3dUIR

C.37ad!

Choose the correct form of verb that is in agreement with the subject:

When the phone ___, Jacob had been writing in his journal.

A.is ringing
B.rings
C.rang

D.had rung

C.rang



Reference 1D:(18216) Which of the following options best combines the two given sentences?

| was the class topper in my class. | was not selected in the interview.

A.Though | was the class topper in my class, | was not selected in the
interview.

B.l was the class topper in my class since | was not selected in the
interview.

C.l was the class topper in my class yet | was not selected in the interview.

D. I was not selected in the interview because | was the class topper in my
class.

Answer: A.Though | was the class topper in my class, | was not selected in the
interview.

Reference ID:(18487) T [dsh! HHATTAT THUT [Ash1aR 8% HIHRH fHesd. SR fashl 10,000 TTATE
SR el R ATl 10,000 TG R Taied SifafRed fashiar e sifafked
DI WUH 4% 1Y fHosdl. SR AT 950 FUAT™ THUT HIARH fHerd, &R
Tl RresTerd 199 fobalt 3Rel?

A.40 3UT

B.50 3T

C.36 W

D.48 3WY

Answer: B.50 3T

Reference ID:(18489) U kit 600 Hiex did &1 5 fHfHeined UR F=dl. e feiamadia an
P 3HTG?

A8.2

B.4.2

C.6.1

D.7.2



Answer: D.7.2

Reference ID:(18248)  Ueld Xsard! faHddl sfiawar
T

AN
B.fgdtan

C.UYHI

Answer: Bﬁ?ﬂfﬂ

Reference ID:(18488)  TGTHI 31101 oA THHAIRAT HIRIP U 28000 TUY 3Te. TITHT 3101
U I 3B 25% 30T 12.5% =t dTedd. AT 7d I g THAT
A1 ddHTAT 120% a1, AR 44 30 B 3ATe?

A.12000 3T
B.18000 3T
C.14000 3T

D.15000 ST

Answer: D.15000 ST

Reference ID:(18249)  UaIaiid! Y& Vg 3Nesdl

Ag=g4rdd
B.d=addd
C.d=agrdd

D.g=drdd

Answer: C.d=rdd

Reference ID:(18247)  U&Id ArdTdId [aRTATg e,
U 3Tl... IR HUd gld.

A dufg
B. ST g



C.3[adRl g

D.UI &8

Answer: A Aufrg

Reference ID:(18494) 2028 U fGG i1 T8T HIUIAT a8 ATORE TS, R[Hhd?

A.2056
B.2055
C.2054

D.2053

Answer: A.2056

Reference ID:(18235)  Yald A1 A A1 AT 3ficl.

A 3T fobabe e,

B.3{Tg1 fohebe ezl
C.3MMg] fobobe WA,
D. 31! fobcbe Weadl.

Answer: B.GiT%pf fohdhe Wasdl.

Reference 1D:(18479) ﬁ%@wwwﬁaﬁmwwmwﬁ 3IHUT Je5d
?

No.29B, S. De S. Jayasinghe Mw, Kalubowila, Dehiwala.,
Sri Lanka., Dehiwala-Mount Lavinia 10500, Sri Lanka

(i) No.29B, S. De S. Jayasinghe Mw, Kalubowila, Dehiwala.,
Sri Lanka., Dehiwala-Mount Lavinia 10500, Sri Lanka

(i) No.29B, S. De S. Jayasinghe Mw, Kalubowila, Dehiwala.,
Sri Lanka., Dehiwala-Mount Lavinia 10500, Sri Lanka

(iii) No.29B, S. De S. Jayasinghe Mw, Kalubowila, Dehiwala.,
Sri Lanka., Dehiwala-Mount Lavinia 10500, Sri Lanka

(iv) No.29B, S. De S. Jayasinghe Mw, Kalwbowila, Dehiwala.,
Sri Lanka., Dehiuala-Mownt Lavinia 10500, Sri Lanka



B.ii

C.iii

D.iv

Answer: D.iv

Reference ID:(18493) A BT B U&T 30% HII&H 3Tg. TheT A 23 fadid Ul s bl Sl 3™
HTH Tha HRUGMTS! i fhdt feay dAnTaia?

A.11 faag
B.13 faaw
C.15 feaw
D.17 faaw

Answer: B.13 faaq

Reference ID:(18242)  Jeld dTadTdid fohATIARINUT 3fcadl.
AT TSNS RIS U 93BT Hled 3d.

A SISl

BRI
C.93dT

D.3{dd

Answer: B.GQQ-IGl

Reference ID:(18456)  HRAMT Wiciiates! HIUIT I Wl 3f$a1 gy W7 2019 7ed qaffis
Ugdh Heaqdl?

A HBRIY
B. 37T

C.gRaron

BKIC



Answer: A.HE'RTQ

Reference ID:(18496) A 30 B &7 19 U&iigR ey SO TS IHED, A USITAT B U&T&T THUT
HAr=dT 25 ¢ AP Ad fHSTe. SR B U&TAT 15000 Hel fHesTal 3radid. a

B U& farcl it Rasue gra?
A.8000

B.10000

C.12000

D.15000

Answer: B.10000

Reference ID:(18455) 1782 &Y WU HIUIT dgiar IR delt et Sures Ufed SHal-FRIaT
gg JHI Ial?

A TGfIRET I8

B. ITaeTRdl a8
C.HeuRd a8

D.JUarI 8

Answer: B.ITAdSd dg

Reference 1D:(18212) Choose the appropriate articles for the given sentence:

___ few years ago, our children went to study in __ United States of
America, leaving us with __ empty nest.
AA ...the...an

B.The ... the ... an

C.No article required ... the ...no article required



D.A ... the ... no article required

Answer: AA ...the ... an

Reference ID:(18452) ISR AR HRAIIA gAR [$h~ SHIQT 8§ R UGS HERIPII

W] HIvd RIH Fasd T 3mg?

A0
B. IR

C.AMR
D ATRI®

Answer: D AT

Reference ID:(18490) 777 3ff01 1147 91 H.91.41. PTel.

A.37
B.38
C.39

D.40

Answer: A.37

Reference ID:(18453)  HERTY YFTAR faRie &R HERIATAed WU 3ifcidrs Widiiada! I
el HRuTTd STel?
ATRH &R R
BT &R R4
C.5 R R
D.Aqqiid Rig

Answer: A.TRT IR R

Reference ID:(18497) R SIft v W FagH @ quf &
4,9,17,___ 69,139,277

A.28



Answer:

Reference 1D:(18227)

Answer:

Reference 1D:(18470)

Answer:

Reference 1D:(18225)

Answer:

B.35
C.42

D.51

B.35

fadean egrerg A gamf Teg fAasT.

AT
B.dlg
o IGIE

D.UIc

B.hdls

YR ([ET) HIIGT, 1955 A Gkl HRUATd HTel! SITO1 Tell
JUHE AR §aP BT TRETT, 1955 3 GAATHT HRoard
3T,
A.1976
B.2001

C.2014

D.1998

A.1976

Choose the correct form of tense for the given sentence:

After Meera the room, she the floor.

A.tidied up , washes
B.tidies up , has washed
C.had tidied up , washed

D.has tidied up , washed

C.had tidied up , washed



Reference 1D:(18467)

Answer:

Reference 1D:(18454)

Answer:

Reference 1D:(18462)

Answer:

Reference 1D:(18222)

Answer:

TSI H=T YT HRidbTes fabdt 3mg?

A.02 Y
B.04 Y
C.05dY
D.06 9%

D.06 Y

UAHIAIER (SAD HIUThT) TR D1 FHSTd?

A Bl el STAgTT IR T8 it SaiedT Ui 1y HRd.
BB UT<iT SfAgTHTel IRaT 378 Sif TR T S HRd.

C .8l Sell SIAgTTEI TR 318 Sl SR Y Hd.
D8 UTe SiagTRTe RIRAT 31T Sif Jfcidm 31 .

A B Sa sfagrarl wrar 3mg St gt ufam=n siarg &,

BV AP STAHRT HRIFTAS Rl 74T — TGS WIS aR [T 3182

A TTS&g-91
B.TAg&Y-130
C.TAE=Y-3
D.TT8&Y-67

A TTE&Y-91

Choose the most appropriate usage to fill in the blank in the given sentence:

from social engagements is a sign of depression.

A.Withdrawal
B.Withdrawn
C.Withdrew

D.Withdraws

A.Withdrawal



Reference 1D:(18205)

Answer:

Reference 1D:(18460)

Answer:

Reference 1D:(18481)

Answer:

Choose the appropriate option with the correct punctuation marks for the
given sentence:

Sara bought three new pairs of shoes even though she had put herself on a
tight budget just last week

A.Sara bought three new pairs of shoes, even though, she had put herself
on a tight budget just last week.

B.Sara bought three new pairs of shoes, even though she had put herself
on a tight budget just last week.

C.Sara bought three new pairs of shoes. Even though she had put herself
on a tight budget just last week.

D.Sara bought three new pairs of shoes; even though she, had put herself

on a tight budget just last week.

B.Sara bought three new pairs of shoes, even though she had put herself
on a tight budget just last week.

3ffeps daue™ g Hicl T feSisn HimyagR TG TaRTUY Yeadt
YFaTd bl 81 ¥ed Gaig 3oy M YR 3T,
AATTGR

B.YYIqe
cils

D.q0!

B. YT

3T IAHT TU § TTAT 3MTe<dT gUTUT SH-UHIR 315, 8 g¥iHaR I g
TN 3MTs <1 quTedT 3¢ SrAd. JeaT 35 99 BT 35?2

A.32 9%
B.36 a%
C.40 T
D.48 a%

C.40 a%



Reference ID:(18486)  Rasrn St v Wi FagH @t qul o
2,12, 36, 80, , 252, 392

A.80
B.100
C.120

D.150

Answer: D.150

Reference ID:(18491) B T a&Jall W4l fhHd A TT 9=l Wedl fh AU 200 FUTT 31D 35, A
1 TIT 20% TR fah! arait 30T B A7 aqd! 30% dieam fdgh! dell. SR A
30T B acj= faeh! faddid UMRR 3 6:7 38d R, B Ixqd! @Ral fdhad
DY 3HTG?

A.520 .

B.430 %.

C.400 .

D.360 2.

Answer: C.400 >.

Reference 1D:(18221) Choose the appropriate conjunctions for the given sentence:

He showed a lot of promise in his new job his manager gave him a
quick promotion.

A.but

B.and

C.because

D.as

Answer: B.and



Reference ID:(18477)

Answer:

Reference 1D:(18226)

Answer:

Reference 1D:(18203)

WTcid HiSUTT Hressiydd 31T &1 30T \relt feiedT T IR &

M4ET%19IB@QUBON#WFIV7*2AH3Y5$6K
WTeiteder! 10T aRid AiSUiiear SSTcT SlaTh g YaRTTH] JoTdIdh g 7dd

3T ?

AY
B.A
C.u

D.%

B.A

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

A: My boss in the office always shouts at me.
B: | know him very well. His bark is worse than his bite.

What does B mean here?

A.The boss is a dangerous man and he is likely to harm A. Therefore A
should be careful with him.

B.A need not worry too much about his boss, since the latter is not likely to
harm him.

C.The boss is known for his bad temper and A should not annoy him.

D.The boss acts like a dog and keeps barking.

B.A need not worry too much about his boss, since the latter is not likely to
harm him.

Choose the option that has the correct spelling for the missing word in the
given sentence:

Put the games back in the after playing.

A.cabanet
B.cabonet
C.cabinet

D.kabinet



Answer: C.cabinet

Reference ID:(18241)  Resrrn Srft avg wafy fRaa.

Answer: B. XN 3c0y

Reference ID:(18475) SR g%l Ul YUIC SRIMFHR I Gard, R gHa! UiaHT fead
T 3fTgesdl.

A TR 311 IacT
B.HIaT 31fOr geic

C.qHM BRI guT e

D. T SR U0l Teh ST 3dc]

Answer: D. T SR U0l Teh ST 3dc]

Reference ID:(18495)  WTeit f[adiedl Y@cide 3iehial U a1y ovH fadid 318, AR Iebial hd
3{IeSET:
76, 75, 142, 399, 1530, 7535
A.399
B.142

C.75

D.1530

Answer: D.1530

Reference ID:(18230) & SIFH IR SIIS2TeG foral.



B. Al
C.aaIf
D. Mgy

Answer: C.alllallilﬁ

Reference ID:(18499)  Udh g 14 AT BIATHYA Je STd. YA fdohdl Ye feream Wrdl fddtar

-\

20% TR faep! HAl. SR Qa1 A o=l 432 Suin fawt el 3,
W Tl fbAd BT gidt?

A125%.

B.256 %.

C.250 %.

D.432%.

Answer: C.250 >.

Reference 1D:(18202) Choose the option that has the correct spelling.

A.Coruppt
B.Corrupt
C. Curropt

D.Currupt

Answer: B.Corrupt

Reference 1D:(18215) Choose the most suitable determiner for the given sentence:

He received disturbing news.

A.few
B.little
C.some

D.much



Answer: C.some

Reference ID:(18233) bt SIRT 4R

AR
B.3
CR

D.¥

Answer: AR

Reference ID:(18231) ST ATAHYTCT A=M AN —---—-

AT
B.fbHa
CWhid

D. AR
Answer: D.IIT{JRDI

Reference ID:(18465)  Wcitaides! HIvfl STUTEA ST Hed]-WICH RIBR 2018 HEl "W
P ¢ SR ()" 1 I RIBR Sibar?

A SRS =T
B.IRY e

C. ST 70T
D38 giTd

Answer: AR T*aﬁl'ﬂ

Reference 1D:(18478) WWRR] Blel.
34,42, 66, 84, 10 & 94

A.45
B.35

C.55



Answer:

Reference 1D:(18492)

Answer:

Reference 1D:(18476)

Answer:

Reference 1D:(18237)

Answer:

D.25

C.55

P g A= 8 ANIHe U A1d GRadhid &0l xd, AR Q ddeid e 10
I guf FHRd IR R 81 AR daedl G i<l UMt 12 R ArTard.

T4 A=A FebTes! 9 aTeld Y& dHedl. 11 aroTdl P &1 =M s dhall 10T IdRd

&I TR & gl . siars! fadt arorar & qul §isd (Ve aRa Qe e

HSEURTS)?

A.FdhTosl 11:30
B.gURI 12
C.QURI 12:30
D.gURT 1:00

D.gURT 1:00

IR YT 3.

Oefired S &

ARSI
SXSGIED

C Tt gzrom
D70

DU

fadiedn PresTd uRad= HRuarad! arg Tafy e,
A% a1 Ad1 Faegand. Rifd Hidwse)

Afgsa

B.[asd Sirdia

c.fasa s@a

D.fAgsdia

B.[asd Sirdia



Reference 1D:(18471) TS FAEUT 2019 WR‘IT[@L R afd WS WeR-5.3 U
o [R¥hd HRUTTd 3T,

Agg=Rt
B.Ag®E

C.d91%

D.3CaR

Answer: B.ﬁH\F

Reference ID:(18458)  WIAIcideh! SIUTHT UM TS g 0T 3V 67 2018-19 Ricwer?

AIRD

B.IRTY
C.FAlch

D.fagy

Answer: D fagy

Reference 1D:(18219) Choose the appropriate prepositional phrase for the given sentence:

fire, break glass to escape.

A.On behalf of
B.Despite of
C.By means of

D.In case of

Answer: D.In case of



